Duration — 3 Hours

N.B 1) Question No. 1 is Compulsory.

2) Answer any three questions from remaining;"ﬁu:@;sfieﬁsf{‘ =

3) Figures to the right indicate full marks. - . B

Q.1 a) Evaluate fooo yte ¥’ dy.

Solve (D2 +D—-6)y=
Evaluate fo fxz xy(x%g

[}

of infegration-and evaluate foz fx‘i—x xydydx.

) Evaluate [ff x%yz éikdj)dz throughout the volume bounded by 6
- the planesx = 0,y = 0,z =0 and §+%+-ZC-=1.

- Find the mass of lamina of a cardioid r = a(1 + cos@) .
- If the density at any point varies as the square of its distance
* from its axis of symmetry. 6

Solve xV'Z)Zd'y+5(3x+2) —3y=x2+x+1.
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2)

Solve 3_31 = 3x + y? with 1m

Paper / Subject Code: 29701 / Applied Mathematics - II.

Find by double integration the area common to t[ Cir
2cos6 and r = 2sind. i

Solve sian%z— =y + tanx.

1 conditons yo=1, 8 ~ |
'ry'lRunge Kutta method of‘j' e |

xo = 0 at at x=0.2 in steps of h= O
fourth order. <

dokskoskskokok
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raper / dubject Code: 29704 / Structured Programming Approa

& (%em .—\--) C,ho\ce, E)C\SQ& e 21\9

Time: 3 Hours

N.B
(1) Question no. 1 is compulsory.
(2) Attempt any 3 from the remaining questions. -~
(3) Assume suitable data if necessary. =
(4) Figures to right indicate full marks.

a  Attempt the Multiple Choice Questions
i#include<stdio.h>
int main()

{

int a=0;

a=a++ + at++ - at+ + ++a;
printf("%d\n", a);

return 0;

}

The output of above program is

()2 (0 (c),«

pointer variable?

@*

itic stmage class vamable is
5 "‘(b) Garbage (c)One (d) None of above
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raper/supject Lode: 2Y/04 / Structured Programming Approach

ii) #include <stdio.h>

int main()
{ int x;
x = 10;
if(x > 10)
x -=10;
else if(x >= 0)
X += 00;
else if(x)
X +=10;
else
x -=10;
printf("%d\n",x); I N B TR R ;
return 0; P ¢ o g \"

c) Convert the following oot s % 8 S B B
i)153 from base 10 to Hexade01mal e g 2 AN A
i1)1100 1101 1001 1011 from base 2'to declmal
i11) 143 from base 8 to declmal

d) Differentiate betwge_' nrli’qur'e-&hd Uinionﬁ g Al

gram usmg recﬁrswn,fucaicuiate the value of Z=XY.

b) Writea functlon to reverse a3 dlglt number e
Write a- program to d;splay following pattern -

e

010

LTS
01010

Wnte &program to ﬁnd the frequency of di gits in a set of numbers and remove duphcates
from an array..Forex. array A*{l 2 ;3,4,2,5,2} frequency of 2 is 3 and resultant array is
A={1,2,3,4,5}:
,Explarﬁ:,_» the ‘concept: o nested structure‘7 Declare a structure to enter employee
“ .= Information like name; id; saiary, date of jaining. Use nested structure to get the address
e . ofan employee Write a program to read 10 records and display them.

'Explaln strncat() & strcpy() with example. Also write a program to check whether entered
“string is palindrome or not without using inbuilt string functions.
- Differentiate-between call by value and call by reference. Write a program to calculate

. F actonal of a number using call by reference.
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FAPer / SUDJect LoUue: 2Y /U4 / SICUCIUred F rogrammimg Approaeu

What is file? Explain the functions available for Reading & Wri ng'gia‘ Q‘F file
Write a program to take student information from user and store it in file.
b) Write a program to calculate sum of diagonal elements of a matrix.
For ex. :
p23
598
147

Calculate the sum of diagonal elements= 3+9+1“‘13

a) Explain storage classes with example.

b) Write a program to find greatest number
operator ~

c) Write a program to calculate the s
...... x/n! -
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(2 Hours)

Question No. 1 is compulsory :
) Attempt any three questions from remaining Question No 3
) Assume suitable data wherever required. )
) Figures to the right indicate marks.

pt any Five ' it
xplain the formation of colors in thin film when it is exposed to

1 that is sandwiched between the
5 for thin film and 1.50 for the
visible wavelengths (400 -700 nm)
er above the film? 8M)

asmgle ‘mode fibre if its core refractlve index is 1.46
ing wavelength is 1300 nm. (™M)

i fer’s-do 1;1 - \ yan experlment and obtain expression for resultant intensity
of-light o th sereen.and derive the formula for missing orders in the double slit diffraction pattern.
M

nstruction and working of He-Ne Laser. (™)

eeetor field F = x%yi- (2% — 307 + 4v°K . M)

| of cathode ray oscilloscope (CRO) and explain the importance of time base
M

¢ produced by monochromatic light falling normally on a wedge shaped film
4. The angle of wedge is 20 seconds of an arc and the distance between

: mges is 0.25 cm. Calculate wavelength of the light used.. (5 M)

::::::
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ground state and excited state of the laser is separated by 1.8 eV
mber of atoms in the excited state to the ground state and %

electron enters in a uniform magnetig‘-ﬁeid”:B;

sume electr
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(a)
(b)
(©)

(d)
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Paper / Subject Code: 29703 / Applied Chemistry- IL.

£ tem ] horte based /21.05 2019

[Time: 2 Hours] [Total MarkS'60]

Please check whether you have got the right quest\)n paper,
N.B: . Question.No.1 is compulsory.

2. Attempt any three questions out of remaining five.
3.Figure to the right indicates full marks.
4 Atomic weights C=12,8=32,N=14,H=1,0=16,C1=35.5}-

Answer any five from the follewmg :

Define octane number and write its mgmﬁcance ‘

What is the difference between anodic and cathodic coatmgs"
Calculate higher calonﬁc value of a coal sample containing -

C=85%,H=1%,N=1. 5%,0 5%,5=0.4% and remarmng being ash

Write the composrtlon propertres and uses of commercial brass.

Explain the prmmple“*‘lnherenﬂy Safer Chemrstry of Aceldent Preventlon in green
chemistry. - - , S

Write the classrﬁcatlon of composrte materials.

What are. functlons of pigments in paints?

Deﬁne eorrosron Explam the mechamsm of wet: corrosion with respect to neutral and
alkalrne medra (
1.4 gm of coal sample on combust1on gave 0. 3 gm of barium sulphate precipitate.

: ,Calculate the percentage of- sulphur in the sample

 What are the industrial apphcatrons of super critical CO,?

‘ (a)

What is crack1ng‘7 Explam in detall fixed bed catalytic cracking.
) What are ‘shape: memory alloys ?What are their applications ?

11) How does the presence of humidity affect the rate of corrosion?

, ;;(c}

‘Calculate the percentage atom economy of the following reaction with respect to the
product allyl chlorlde :

CH;3-CH=CH+Cp---> Cl-CH,-CH=CH,+HCl

Allyl Chloride

Page 1 of 2
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Paper / Subject Code: 29703 / Applied Chemistry- II.

a) What is anodic protection method of corrosion control? Explain with the help of a neat
diagram .
b)i) What are the industrial applications of the products from natural materials ?
ii) What are the functions of matrix phase of composite materials?

c) Write a note on heat resisting steel.

a) A sample of coal was found to contain C=90%,0=5%,H=1%,5=0.5% and remaining being
nitrogen.Calculate weight and volume of air required for complete combustion of 1 kg of
coal sample.(M.W.of air=28.949)

b)i) “The noble metals do not undergo corrosmn” Justlfy the statement -
il) What are the appllcatlons of fuel cell?

c¢) Explain with suitable equations ,conventional and green synthesis of adipic acid.

a) Whatis powder ’”’etallurgy'7 Explaln powder mJecthn mouldmg method with the help of a
neat dlagram : S

b)i) What are':t;he.icharacteristics of composite materials ?

i1) ‘What 4ar¢,the characteristics of a paint film?

What : 10d1esel‘7 ertetheadvantages of biodiesel.
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raper / dubject Code: ZY/U> / Communication SKills,

FE /éb—m / choice based /,3,‘5" m(y

Duration: 2 Hours

1. Question No. 1 is compulsory.

2. Attempt any three from the remaining five questions.
3. Figures to the right indicate marks. %
4. Answers to all sub questions should be attempted and grouped\together

. A) Elucidate non- verbal communication with any ﬁve types whic
while attending an interview. :

.....

B) Identify the barriers from any two situations and brreﬂy state how to overcome thern:.v

i)

The sales target could not be achleved desprte marketmg the product weH ‘m' advance

speaker. r i
i) A friend of yours is unable to keep h1s appomtm nt ‘witk

cancel some other work. You are upset and conclude that'your frlend is lndifferent to
commitment.

.A) Give reasons why it is essential for engineering s’tudentS'to study'com’rnuni‘c'ation skills. 2M
B) For the following communication sitiations 1dent1fy the Sender Message Medium,

Channel, Receiver and Feedback f o S R e e SRR - 6M
i) A project presentatlon : & o W
i1) An advertisement campalgn P .

C) Draw the lay-ou_t. of Complete block ‘fonnat_y R 2M

. A) Explain any~4 prmctples of busmess correspondenoe '4C s) M
B) Change the sentences into ‘You—oﬁ . 2M
i)y - We regret that the ‘goods. -dld I o‘t'reaeh\the buyers on time
ii) -~ We cannot approve your refund request untrl we receive complete information with
- the required documents.
he‘Sales Director of Fltness Plus Centre Mumbal draft a sales letter to Business
o{ProfesslonaIs describing them your 3 Wellness Packages: 1. The 3- day Fitness Weekend
2.The 7- day Total Fitness’ Program 3. The Individualized Corporate Well-Being
Program. . a1 5M

Choose a useful computer program and wrrte five instructions on how to use it, M
; ,.*One word substitutes: M
: »_A reference work prov1dmg summaries of knowledge from either all branches or from
; lar dxsclplrrre E)
: the origin and history of words (E)
Study of the role of Time in communication (C)
iv)  One who does election analysis (P)
v) © - Name adopted by an author in his writings (P)
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L aper 7 subject Lode: 29/US / Communication Skills.

A)  Write short notes on any four: ;
1) Grapevine ii) Listening iii) Feedback iv) Proxemics v) Appearance .
B) Match the following: B RT
A
Specialized Vocabulary
Rapid reading technique
Instructions to avoid an injury
Information for performing the task correctly

Re arrange the following letter making the necessary corrections in fonn,i'pﬁhc'tuéif‘iomw- 5
language and style: S R R e 't 3M
Hewlett-Packard Ltd, India Chandiwala"E‘sfta‘te,;Maﬁ An‘anﬁdm'vz‘ly‘i MQ?g;Kalkaji,‘?'
N.Delhi 110019 oA | a o
Your Ref.

Our Ref.
Date:
Dear Mr. Singh i T e

Thank you very much for your enquiry which is rf‘eycéi\'féd”t,‘o‘day.. Iam enclosing our catalogue
and price list for the equip’fneﬁt,_yduSaid you are interested in. We would welcome any
further enquiries you have and look forward to hearing from you. -

Yours sincerely, GRSl T 3 R et e
D. Sampson
Sales Manager RO D o A PN

Encl; Catalogue -a'nd‘ price ist

To PR

Mr. Rakesh Singh

Digital Equipment’

92,Industrial Suburb, = - - -

Yeshwanipur, Bangalore 560022,

d the passage and answer the questions:

, “In éommunication; the ‘audience’ is the person or group of people whom you expect to read
tion:.f'-Ey;e*n. though writers do not know exactly who will read their documents, they can
éfﬁnejéin i;itéhd_éd: audlenceas t?"e,chn'i‘éal, semi technical or non- technical.

Ihéﬁt'gchn_ichl audience ‘{hé‘lﬁc;i(e‘s,u_pi:a’ctitioners in your field: those with technical experience
raining such as technicians and engmeers Technical audience understands fundamental concepts
argons without definitions or background information. Readers expect the writer to use technical
1age efficiently and appropriately.

¢ semi "te'chnic«’a]téudiénce has some technical training or work in the industry, but not
y'in' the field, those working in related departments or those with training in related technical
. This might even include Personnel in marketing, finance or administration of a technical
any. The semi technical audience needs some explanation of concepts, abbreviations and jargons.
rS e technical tenns“only if they are common in the company or industry. For this audience you
t provide an orientation to the subject and explain or interpret the terms and information.
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raper / dSupject Loae: £y /ud / LOIINuURitalivil SKiis.

on terminology, simple language free of jargon and techmcal data a full baékgroun -and gr Y
ation to the subject along with a complete discussion of the main points. Te simplify difficult - -
pts writers often compare technical processes . to- more farmllar ones through analogles‘and'

hors. : =5 ' s 5y
Define ‘audience’ as it applies to technical commumeatlon e _
How does the author adapt himself/herself- to technical audwnce" %
What type of people constitute non-techmcal audlen R e
Why do the writers need to explaln On mterpret the terms for a seml techmcai audxence" 2M :

E e e 2, < |
SRRk R R L RN
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Paper / Subject Loae: ZY /U0 / LOGHILEr g U1 awing,
Sem {\I[ ¢hotce Baled z AL [ 07’_,
3 o

Qs JQC& Core, ’2,6\709\ .
(3 Hours)

Teper\

B. - 1. Attempt any four questions.

5 Retain construction lines.
6. All dimensions are in mm.

1.(a) One end of an inelastic string, 125mm ldn_gu
disc of 50 mm dlameter The free endsor g

1.(b) For the object shown in flgumdraxm

(05)
(04)
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TP SHUIECLLoue: 2Y /06 / Kngineering Drawing,

Q.2

For the object shown in figure draw the folloWing views -
(i) Sectional front view along section A-A.

(ii) Side view from left

(iii) Top view

(iv) Insert the major dimensions

A penta go.n‘a}? pyramid of 30 mm a
-+ .one ‘ij.ts_tri;a‘ngu;lar~ surfaces in th
to theHPDraw1ts front view an

ge of"bas'e“'asndv 60 mm axis height is lying on s)
e V.P. so that the axis is inclined at angle of 450
d top view.

” hnderdlameter of base 50 mm and axis height 70 mm has one of (06)
rcumference point.of base in the HP, such that its axis is inclined at 300 to the
¢ HFP, Dra-w:i‘tis‘@'pnf‘o‘jécﬁbns, i
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raper/ dubject Lode: 2Y /U6 / Engimeerng rawing.

4 (b) Figure shows two views of an object. Draw its isometric view.

side view. Also. dra A
lateral surface of the cone

Q.6 (a) TheT.V. oflme AB measures 60 mm and is inclined at 569 to the XY line. Point A
is 10 mm above the H.P. and 20 mm in front of the V.P. Point B is 45mm above

H. P and mfrontvof the V P Draw the pro;ectlon ofhne AB.

20, . 25, 40 @40
|
| N
gl | !
0O l 1 R40
FRONT VIEW
’ T t T
gl ® ! E R
1L —
| 40
TOP VIEW
Q.5. A cone of base 70 mm dlameter and axis 90 mm long is- restmg on 1ts base on HP. It (15)

is cut by a section plane perpendicular to the VP and para]lel t ,.amd 15 mm away
from one of its end" 1 enerators. Draw the sectional- top view, front view & sectional
“he true shape of the Sec»t10n Also draw development of the

(09)

Flgure shows two views of an ob]ect Draw 1ts Lsometrlc view with ‘O’ as origin.

(06)
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